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Abut R

.2.5 2 |

Abut_L
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1
1.1
1.1.1 Abut L
1
() (kN) 2575.657
® (m 0.000 0.558
(©) Wu(kN)
1 2 I 2 1
kh 1 S O
(Wu) 5151.314 5151.314 5151.314
(Wiu) 2575.657 2575.657 2575.657
1 skh
() (KN/m?) 2.35E+007
@ (kN/m?) 1.02E+007
(©)) 1
)

FORUMS8




@
©)
® ) 2
(©)) (m 0.000
1 1 2 2 2
> 1z ly J 1z ly J
m m 4 4 4 4 4 4
™ ™ () ) ) ) ) )
1- 2 2.550 2400000 8.00000 288.00000 28.64000 8.00000 288.00000 28.64000
2-3 2.550 2400000 8.00000 288.00000 28.64000 8.00000 288.00000 28.64000
3-4 1.000 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
4- 5 1.000 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
(kN)
2 3425.100
4 5001.528
Kx(Ass) 2.596580E+006 kN/m
Ky (Avv) 7.825277E+006 kN/m
Kz(Arr) 1.041205E+008 | kN.m/rad
Kxy(Asv) 0.000000E+000 kN/m
Kxz(Asr) -3.237669E+006 kN/rad
Kyz(Avr) 2.750000E+000 kN/rad
Kx(Arr) 9.596680E+007 | kN.m/rad
Ky kN.m/rad
Kz(Ass) 2.596580E+006 kN/m
Kxy 0.000000E+000 | kN.m/rad
Kxz(Ars) -3.237668E+006 kN.m/m
Kyz 0.000000E+000 kN.m/m

FORUMS8




1.1.2 Abut R
1
(€)) (kN) 2575.657
@) (kN) 5151.314
(©)) (m 0.000 0.558
%) Wu(kN)
1 2 | 2 1
0.15 | mmmmmmmmmm oo | o
skh 1 0.25 | mmmmmmmmmmmmome |
(Wu) 0.000 0.000 0.000
(Wu) 2575.657 2575.657 2575.657
1 skh
(€)) (kN/m?) 2.35E+007
@) (KN/m*) 1.02E+007
A3) 11
®
01
|i2
03
04
05
€))
@
A ) 2
4) (m) : 0.000

FORUMS8




1 1 1 2 2 2
™ ™ @ o @ @@ @
1- 2 2.550 24.00000 8.00000 288.00000 28.64000 8.00000 288.00000 28.64000
2-3 2.550 24.00000 8.00000 288.00000 28.64000 8.00000 288.00000 28.64000
3-4 1.000 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
4- 5 1.000 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
(kN)
2 3425.100
4 5001.528
Kx(Ass) 2.596580E+006 kN/m
Ky(Avwv) 7.825277E+006 kN/m
Kz(Arr) 1.041205E+008 | kN.m/rad
Kxy(Asv) 0.000000E+000 kN/m
Kxz(Asr) -3.237669E+006 kN/rad
Kyz(Avr) 2.750000E+000 kN/rad
Kx(Arr) 9.596680E+007 | kN.m/rad
Ky kN.m/rad
Kz(Ass) 2.596580E+006 kN/m
Kxy 0.000000E+000 | kN.m/rad
Kxz(Ars) -3.237668E+006 kN.m/m
Kyz 0.000000E+000 kN.m/m

FORUMS8




1.2
1.2.1
( 1)
5(M | 1¢s) | Kkho | kn Khg | KD
Abut_L 0.01169 | 0.217 [0.2500 | 0.25 | 0.20| 1287.829 | 5151.314
Abut R 0.00491 | 0.141|0.2222 | 0.22| 0.20| 386.349 0.000
T
5(M | 1(sy | Tmin | Kho | kKn Khg oy | KW
Abut_L Il | 0.00825| 0.183 | -—-—-- 0.2422 | 0.24| 0.20| 618.158 | 2575.657
AbUt R Il | 0.00825| 0.183 | -—-—-- 0.2422 | 0.24| 0.20| 618.158 | 2575.657
T/Tmin 1
( 2 D
oM | 7(s) | Kheo | Khe Khg «y | KO
Abut_L Il | 0.01169 | 0.217 | 0.8500 | ~—-——- R [— 5151.314
Abut R Il | 0.00491 | 0.141 |0.7857 | -—-—— 0.35 | —ocommme 0.000
T
(M | 7¢s) | Tmin | Knco | Khc | Khg Gy | KD
Abut_L Il | 0.00825| 0.183 | -—-—-- 0.8500 | —-—-—- 3 2575657
Abut R Il | 0.00825 | 0.183 | ------ 0.8500 | ~----- R 2575.657
T/Tmin 1
( 2 I
5(M | 7(s) | Kheo | Khe Khg «ny | KO
Abut_L 0.01169 | 0.217 | 1.1641 | ——-——- A (/) [ 5151.314
Abut R 0.00491 | 0.141 | 0.8718 | —————- 0.70 | comomeeee 0.000
T
5(M | 1(s)y | Tmin | Khco | Khc | Knhg wy | KO
Abut_L Il | 0.00825 | 0.183 | —-———- 1.0362 | —-omm 0.70 | —mommmee 2575.657
Abut R Il | 0.00825 | 0.183 | ---——- 1.0362 | ——-——- 0.70 | —mmmomemee 2575.657
T/Tmin 1

FORUMS8




1.2.2
( iy
Abut L
1
@
@) 1
©))
2 o
6 = dp+do+06o0 ho
= 0.00145 + 0.00543 + 0.00068 7.100
= 0.01169 (m)
op: (m)
00 : (m)
6o : (rad)
ho :
3
T=201/6 =0.217 (s)
4
Kh = 0.25
Kh = Cz Kho =1.00 0.2500 = 0.25
(Kh 0.1 0.1 )
H =Wu Kh =5151.314 0.25 = 1287.829 (kN)
Kh = Cz Kho = 1.00 0.2000 = 0.20
Abut R
1
@
@) 1
©)
2 e}
0 = O0p+do+06o0 ho
= 0.00024 + 0.00291 + 0.00025 7.100
= 0.00491 (m)
op: (m)
00 : (m)
0o : (rad)
ho :
3
T=201y6 =0 141 (s)
4
Kh = 0.22
Kh = Cz Kho = 1.00 0.2222 = 0.22
(Kh 0.1 0.1 )
H = Min.(Fs Rd, 1/2 skh W)
= Min.(0.15 2575.657, 1/2 0.25 5151.314) = 386.349 (kN)
Kh = Cz Kho = 1.00 0.2000 = 0.20

(m

(m

FORUMS8




2 D)
Abut_L
@
@ 1"
©))
e}
0 = O0p+do+06o0 ho
= 0.00145 + 0.00543 + 0.00068 7.100
= 0.01169 (m)
op: (m
00 : (m)
6o : (rad)
ho : (m)
T=201{0 =0.217 (s)
2
Khg = Cz Khgo = 1.00 0.3500 = 0.35
Abut R
@
@) 1
©)
e}
0 = O0p+do+06o0 ho
= 0.00024 + 0.00291 + 0.00025 7.100
= 0.00491 (m)
op: (m
00 : (m)
6o : (rad)
ho : (m)
T =20140 =0.141 (s)

2
Khg = Cz Khgo = 1.00 0.3500 = 0.35

FORUMS8




2 1))
Abut_L
@
@ 1"
©))
e}
0 = O0p+do+06o0 ho
= 0.00145 + 0.00543 + 0.00068 7.100
= 0.01169 (m)
op: (m
00 : (m)
6o : (rad)
ho : (m)
T=201{0 =0.217 (s)
2
Khg = Cz Khgo = 1.00 0.7000 = 0.70
Abut R
@
@) 1
©)
e}
0 = O0p+do+06o0 ho
= 0.00024 + 0.00291 + 0.00025 7.100
= 0.00491 (m)
op: (m
00 : (m)
6o : (rad)
ho : (m)
T =20140 =0.141 (s)

2
Khg = Cz Khgo = 1.00 0.7000 = 0.70

FORUMS8




1.2.3
( iy
Abut L
1
€)) 1
@
2 e}
0 = O0p+do+06o0 ho
= 0.00003 + 0.00424 + 0.00052 7.658
= 0.00825 (m)
op: (m
00 : (m)
6o : (rad)
ho : (m)
3
T=20ly6 =0.183 (s)
4
Kh = 0.24
Kh = Cz Kho = 1.00 0.2422 = 0.24
(Kh 0.1 0.1 )
H =Wu Kh = 2575.657 0.24 = 618.158 (kN)
Kh = Cz Kho = 1.00 0.2000 = 0.20
Abut R
1
€)) 1
@
2 e}
0 = O0p+do+0Bo0 ho
= 0.00003 + 0.00424 + 0.00052 7.658
= 0.00825 (m)
op: (m
00 : (m)
0o : (rad)
ho : (m)
3
T=201y6 =0.183 (s)
4
Kh = 0.24
Kh = Cz Kho = 1.00 0.2422 = 0.24
(Kh 0.1 0.1 )
H =Wu Kh = 2575.657 0.24 = 618.158 (kN)
Kh = Cz Kho = 1.00 0.2000 = 0.20

FORUMS8




- 10 -

2 D)
Abut_L
€)) 1
@
o
6 = dp+do+06o0 ho
= 0.00003 + 0.00424 + 0.00052 7.658
= 0.00825 (m)
dp: (m)
00 : (m)
6o : (rad)
ho : (m
T=201/6 =0.183 (s)
2
Khg = Cz Khgo = 1.00 0.3500 = 0.35
Abut R
€)) 1
&)
o
0 = O0p+do+06o0 ho
= 0.00003 + 0.00424 + 0.00052 7.658
= 0.00825 (m)
op: (m)
00 : (m)
0o : (rad)
ho : (m
T =201406 =0.183 (s)

2
Khg = Cz Khgo = 1.00 0.3500 = 0.35

FORUMS8
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2 )
Abut_L
(€)) i
@
o
6 = dp+do+06o0 ho
= (0.00003 + 0.00424 + 0.00052 7.658
= 0.00825 (m)
op: (m)
00 : (m)
6o : (rad)
ho : (m)

T =201/6 =0.183 (s)

2
Khg = Cz Khgo = 1.00 0.7000 = 0.70

Abut R
€)) 1
¢))
1)
0 = O0p+do+06o0 ho
= 0.00003 + 0.00424 + 0.00052 7.658
= 0.00825 (m)
op: (m)
00 : (m)
0o : (rad)
ho : (m)

T=2.01{§ =0.183 (s)

2
Khg = Cz Khgo = 1.00 0.7000 = 0.70

FORUMS8




- 12 -

1.2.4
Abut L
1
@
@
©)

T =205 =0.217 (s)

T (s)
o 80%
(m
0 =dp+d0o+060 ho=0.01169 (m)
op: (m)
00 : (m)
0o : (rad)
ho = 7.100 (m)
dp
op =l 08 Ry o5 (w
3EI 8EI
Wu : = 5151.314 (kN)
Wp : = 3425.100 (kN)
El : = 1.880000E+008 (kN.m?)
h : = 5.100 (m)
hp : = 5.100 (m)
00
‘ Ho *« Arr — Mo + Asr o
do = = (.00543 (m)
Ass ¢« Arr — Asr ¢ Ars
0o
—Ho + Ars + Mo * Ass
0o = = 0.00068 (rad)
Ass » Arr — Asr * Ars
Ho = Wu + 0.8(Wp + WF) = 11892.616 (kN)
Mo = Wu ho + 0.8Wp(hpg + hf) + 0.8WF hfg = 53042.916 (kN.m)
Wf = 5001.528 (kN)
hpg : = 2.550 (m)
hf = 2.000 (m)
hfg : = 1.000 (m)
Ho (kN)
Mo : (kN.m)
Ass,Asr,Ars,Arr :

Ass = 2.596580E+006 (KN/m)

Asr = -3.237669E+006 (kN/rad)
Ars = -3.237669E+006 (KN.m/m)
Arr = 1.041205E+008 (kN.m/rad)

FORUMS8
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Kh = 0.25
Kh = Cz Kho = 1.00 0.2500 = 0.25
(Kh 0.1 0.1 )
Kh
Kho
Cz

Khg = Cz Khgo = 1.00 0.20 = 0.20
Khg : 1
Khgo : 1
Cz :

H =W Kh=5151.314 0.25

1287.829 (kN)

TR N
Wu o : (kN)
Kh

FORUMS8
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Abut R

1
@
) 1
©))

T =201/6 =0.141 (s)

T : (s)
o : 80%
(m
0 =0p+d0+00 ho=0.00491 (m)
op: (m)
00 : (m)
0o : (rad)
ho : = 7.100 (m)
dp
op = W - h3+0' S+ ho” _ 0.00024 (m)
3EI 8EI
Wu : = 0.000 (kN)
Wp : = 3425.100 (kN)
El : = 1.880000E+008 (kN.m?)
h : = 5.100 (m)
hp : = 5.100 (m)
00
Ho « Arr — Mo * Asr
do = = 0.00291 (m)
Ass * Arr — Asr ¢ Ars
0o
—Ho « Ars + Mo * Ass
6o = = 0.00025 (rad)

Ass ¢ Arr — Asr ¢ Ars
Ho = Wu + 0.8(Wp + WF)
Mo = Wu ho + 0.8Wp(hpg + hf) + 0.8WF hfg

6741.302 (kN)
16468.586 (KN.m)

WF = 5001.528 (kN)
hpg : = 2.550 (m)

hf = 2.000 (m)

hfg : = 1.000 (m)

Ho : (kN)

Mo : (kN.m)

Ass,Asr,Ars,Arr :
Ass = 2.596580E+006 (kN/m)
Asr = -3.237669E+006 (kN/rad)
Ars = -3.237669E+006 (kN.m/m)
Arr = 1.041205E+008 (kN.m/rad)

FORUMS8
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Kh = 0.22
Kh = Cz Kho = 1.00 0.2222 = 0.
(Kh 0.1 0.
Kh
Kho
Cz

Khg = Cz Khgo = 1.00 0.20 = 0.

Khg :
Khgo : 1
Cz :

H=Min.(Fs Rd, 1/2 skh W)

Rd : (kN)
Fs :
skh

22

20

Min_(0.15 2575.657, 1/2 0.25 5151.314) = 386.349 (kN)

(kN)

(kN)

FORUMS8
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1.2.5
Abut L
1
@
@
©)

T =205 =0.217 (s)

T (s)
o 80%
(m
0 =dp+d0o+060 ho=0.01169 (m)
op: (m)
00 : (m)
0o : (rad)
ho = 7.100 (m)
dp
op =l 08 Ry o5 (w
3EI 8EI
Wu : = 5151.314 (kN)
Wp : = 3425.100 (kN)
El : = 1.880000E+008 (kN.m?)
h : = 5.100 (m)
hp : = 5.100 (m)
00
‘ Ho *« Arr — Mo + Asr o
do = = (.00543 (m)
Ass ¢« Arr — Asr ¢ Ars
0o
—Ho + Ars + Mo * Ass
0o = = 0.00068 (rad)
Ass » Arr — Asr * Ars
Ho = Wu + 0.8(Wp + WF) = 11892.616 (kN)
Mo = Wu ho + 0.8Wp(hpg + hf) + 0.8WF hfg = 53042.916 (kN.m)
Wf = 5001.528 (kN)
hpg : = 2.550 (m)
hf = 2.000 (m)
hfg : = 1.000 (m)
Ho (kN)
Mo : (kN.m)
Ass,Asr,Ars,Arr :

Ass = 2.596580E+006 (KN/m)

Asr = -3.237669E+006 (kN/rad)
Ars = -3.237669E+006 (KN.m/m)
Arr = 1.041205E+008 (kN.m/rad)

FORUMS8
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Khg = Cz Khgo = 1.00 0.35 = 0.35

Khg : 2 ( D)
Khgo : 2 ( )]
Cz :

2

FORUMS8
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Abut R

1
@
) 1
©))

T =201/6 =0.141 (s)

T : (s)
o : 80%
(m
0 =0p+d0+00 ho=0.00491 (m)
op: (m)
00 : (m)
0o : (rad)
ho : = 7.100 (m)
dp
op = W - h3+0' S+ ho” _ 0.00024 (m)
3EI 8EI
Wu : = 0.000 (kN)
Wp : = 3425.100 (kN)
El : = 1.880000E+008 (kN.m?)
h : = 5.100 (m)
hp : = 5.100 (m)
00
Ho « Arr — Mo * Asr
do = = 0.00291 (m)
Ass * Arr — Asr ¢ Ars
0o
—Ho « Ars + Mo * Ass
6o = = 0.00025 (rad)

Ass ¢ Arr — Asr ¢ Ars
Ho = Wu + 0.8(Wp + WF)
Mo = Wu ho + 0.8Wp(hpg + hf) + 0.8WF hfg

6741.302 (kN)
16468.586 (KN.m)

WF = 5001.528 (kN)
hpg : = 2.550 (m)

hf = 2.000 (m)

hfg : = 1.000 (m)

Ho : (kN)

Mo : (kN.m)

Ass,Asr,Ars,Arr :
Ass = 2.596580E+006 (kN/m)
Asr = -3.237669E+006 (kN/rad)
Ars = -3.237669E+006 (kN.m/m)
Arr = 1.041205E+008 (kN.m/rad)

FORUMS8
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Khg = Cz Khgo = 1.00 0.35 = 0.35

Khg : 2 ( D)
Khgo : 2 ( D)
Cz :

2

FORUMS8
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1.2.6
Abut L
1
@
@
©)

T =205 =0.217 (s)

T (s)
o 80%
(m
0 =dp+d0o+060 ho=0.01169 (m)
op: (m)
00 : (m)
0o : (rad)
ho = 7.100 (m)
dp
op =l 08 Ry o5 (w
3EI 8EI
Wu : = 5151.314 (kN)
Wp : = 3425.100 (kN)
El : = 1.880000E+008 (kN.m?)
h : = 5.100 (m)
hp : = 5.100 (m)
00
‘ Ho *« Arr — Mo + Asr o
do = = (.00543 (m)
Ass ¢« Arr — Asr ¢ Ars
0o
—Ho + Ars + Mo * Ass
0o = = 0.00068 (rad)
Ass » Arr — Asr * Ars
Ho = Wu + 0.8(Wp + WF) = 11892.616 (kN)
Mo = Wu ho + 0.8Wp(hpg + hf) + 0.8WF hfg = 53042.916 (kN.m)
Wf = 5001.528 (kN)
hpg : = 2.550 (m)
hf = 2.000 (m)
hfg : = 1.000 (m)
Ho (kN)
Mo : (kN.m)
Ass,Asr,Ars,Arr :

Ass = 2.596580E+006 (KN/m)

Asr = -3.237669E+006 (kN/rad)
Ars = -3.237669E+006 (KN.m/m)
Arr = 1.041205E+008 (kN.m/rad)

FORUMS8
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Khg = Cz Khgo = 1.00 0.70 = 0.70

Khg : 2 ( )
Khgo : 2 ( I
Cz :

2

FORUMS8
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Abut R

1
@
) 1
©))

T =201/6 =0.141 (s)

T : (s)
o : 80%
(m
0 =0p+d0+00 ho=0.00491 (m)
op: (m)
00 : (m)
0o : (rad)
ho : = 7.100 (m)
dp
op = W - h3+0' S+ ho” _ 0.00024 (m)
3EI 8EI
Wu : = 0.000 (kN)
Wp : = 3425.100 (kN)
El : = 1.880000E+008 (kN.m?)
h : = 5.100 (m)
hp : = 5.100 (m)
00
Ho « Arr — Mo * Asr
do = = 0.00291 (m)
Ass * Arr — Asr ¢ Ars
0o
—Ho « Ars + Mo * Ass
6o = = 0.00025 (rad)

Ass ¢ Arr — Asr ¢ Ars
Ho = Wu + 0.8(Wp + WF)
Mo = Wu ho + 0.8Wp(hpg + hf) + 0.8WF hfg

6741.302 (kN)
16468.586 (KN.m)

WF = 5001.528 (kN)
hpg : = 2.550 (m)

hf = 2.000 (m)

hfg : = 1.000 (m)

Ho : (kN)

Mo : (kN.m)

Ass,Asr,Ars,Arr :
Ass = 2.596580E+006 (kN/m)
Asr = -3.237669E+006 (kN/rad)
Ars = -3.237669E+006 (kN.m/m)
Arr = 1.041205E+008 (kN.m/rad)

FORUMS8
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Khg = Cz Khgo = 1.00 0.70 = 0.70

Khg : 2 ( )
Khgo : 2 ( i
Cz :

2

FORUMS8
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1.2.7
Abut L
1
@
@

T =201/6 =0.183 (s)

T (s)
0
(m
0 =0p+d0+00 ho=0.00825 (m)
op: (m)
00 : (m)
0o : (rad)
ho
dp
op = W - h3+0' S+ ho” _ 0. 00003 (m)
3EI 8EI
Wu :
Wp : = 3425.100 (kN)
El :
h :
hp : = 5.100 (m)
00
Ho « Arr — Mo * Asr
do = = 0.00424 (m)
Ass * Arr — Asr ¢ Ars
0o
—Ho « Ars + Mo * Ass
6o = = 0.00052 (rad)
Ass ¢ Arr — Asr ¢ Ars
Ho = Wu + 0.8(Wp + WF) =
Mo = Wu ho + 0.8Wp(hpg + hf) + 0.8WF hfg =
WE
hpg :
hf :
hfg :
Ho : (kN)
Mo :
Ass,Asr,Ars,Arr :

Ass = 2.596580E+006 (kN/m)

Asr = -3.237668E+006 (kN/rad)
Ars = -3.237668E+006 (kN.m/m)
Arr = 9.596680E+007 (kN.m/rad)

= 6.768000E+009 (KN.m?)

9316.959 (kN)
36192.968 (KN.m)

80%

= 7.658 (m)

= 2575.657 (KN)

= 5.658 (m)

5001.528 (kN)
2.550 (m)

2.000 (m)
1.000 (m)

(kN.m)

FORUMS8
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Kh = 0.24
Kh = Cz Kho = 1.00 0.2422 = 0.24
(Kh 0.1 0.1 )
Kh
Kho
Cz

Khg = Cz Khgo = 1.00 0.20 = 0.20
Khg :
Khgo : 1
Cz :

H=Wu Kh = 2575.657 0.24

618.158 (kN)

Hoo: (kN)
Wu - (kN)
Kh :

FORUMS8
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Abut R

1
[€)) 1
@

T=201{5 =0.183 (s)

= 7.658 (m)

= 2575.657 (kN)

= 5.658 (m)

T : (s)
o : 80%
(m
0 =dp+d0+060 ho=0.00825 (m
op: (m)
00 : (m)
0o : (rad)
ho :
dp
op = i 08 he ) hih0n (m)
3EI 8EI
Wu :
Wp : = 3425.100 (kN)
El : = 6.768000E+009 (kN.m?)
h :
hp : = 5.100 (m)
00
: Ho « Arr — Mo « Asr
do = = 0.00424 (m)
Ass ¢« Arr — Asr ¢ Ars
0o
—Ho + Ars + Mo * Ass
0o = = 0. 00052 (rad)
Ass * Arr — Asr * Ars
Ho = Wu + 0.8(Wp + WF) = 9316.959 (kN)
Mo = Wu ho + 0.8Wp(hpg + hf) + 0.8WF hfg = 36192.968 (kN.m)
WF
hpg : = 2.550 (m)
hf
hfg : = 1.000 (m)
Ho (kN)
Mo (kN.m)

Ass,Asr,Ars,Arr :
Ass = 2.596580E+006 (kN/m)
Asr = -3.237668E+006 (kN/rad)
Ars = -3.237668E+006 (kN.m/m)
Arr = 9.596680E+007 (kN.m/rad)

5001.528 (kN)

2.000 (m)

FORUMS8



- 27 -

Kh = 0.24
Kh = Cz Kho = 1.00 0.2422 = 0.24
(Kh 0.1 0.1 )
Kh
Kho
Cz

Khg = Cz Khgo = 1.00 0.20 = 0.20
Khg :
Khgo : 1
Cz :

H=Wu Kh = 2575.657 0.24

618.158 (kN)

Hoo: (kN)
Wu - (kN)
Kh :

FORUMS8
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1.2.8 2 [
Abut L
1
() 1
@

T =201/6 =0.183 (s)

T (s)
o 80%
(m
0 =0p+d0+00 ho=0.00825 (m)
dp: (m
00 : (m)
6o: (rad)
ho : = 7.658 (m)
dp
op = W 'h3+-0'8wp “ho 0. 00003 (m)
3EI 8EI
Wu : = 2575.657 (kN)
Wp : = 3425.100 (kN)
El : = 6.768000E+009 (kN.m?)
h : = 5.658 (m)
hp : = 5.100 (m)
00
Ho * Arr — Mo * Asr
do = = 0.00424 (m)
Ass * Arr — Asr ¢ Ars
0o
—Ho « Ars + Mo * Ass
0o = = 0.00052 (rad)

Ass * Arr — Asr * Ars

Wu + 0.8(Wp + WF)

Ho

Mo = Wu ho + 0.8Wp(hpg + hf) + 0.8WF hfg

WF
hpg :
hf
hfg :
Ho :
Mo :
Ass,Asr,Ars,Arr :
Ass = 2.596580E+006 (kN/m)
Asr = -3.237668E+006 (kN/rad)
Ars = -3.237668E+006 (kN.m/m)
Arr = 9.596680E+007 (kN.m/rad)

(kN)

9316.959 (kN)
36192.968 (KN.m)

5001.528 (kN)
2.550 (m)

2.000 (m)
1.000 (m)

(kN.m)

FORUMS8
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Khg = Cz Khgo = 1.00 0.35 = 0.35

Khg : 2 ( D)
Khgo : 2 ( D)
Cz :

2

FORUMS8
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Abut R

1
[€)) 1
@

T=201{5 =0.183 (s)

= 7.658 (m)

= 2575.657 (kN)

= 5.658 (m)

T : (s)
o : 80%
(m
0 =dp+d0+060 ho=0.00825 (m
op: (m)
00 : (m)
0o : (rad)
ho :
dp
op = i 08 he ) hih0n (m)
3EI 8EI
Wu :
Wp : = 3425.100 (kN)
El : = 6.768000E+009 (kN.m?)
h :
hp : = 5.100 (m)
00
: Ho « Arr — Mo « Asr
do = = 0.00424 (m)
Ass ¢« Arr — Asr ¢ Ars
0o
—Ho + Ars + Mo * Ass
0o = = 0. 00052 (rad)
Ass * Arr — Asr * Ars
Ho = Wu + 0.8(Wp + WF) = 9316.959 (kN)
Mo = Wu ho + 0.8Wp(hpg + hf) + 0.8WF hfg = 36192.968 (kN.m)
WF
hpg : = 2.550 (m)
hf
hfg : = 1.000 (m)
Ho (kN)
Mo (kN.m)

Ass,Asr,Ars,Arr :
Ass = 2.596580E+006 (kN/m)
Asr = -3.237668E+006 (kN/rad)
Ars = -3.237668E+006 (kN.m/m)
Arr = 9.596680E+007 (kN.m/rad)

5001.528 (kN)

2.000 (m)

FORUMS8
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Khg = Cz Khgo = 1.00 0.35 = 0.35

Khg : 2 ( D)
Khgo : 2 ( D)
Cz :

2

FORUMS8
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1.2.9 2
Abut L
1

@

@

T =201/6 =0.183 (s)

©)

0 =0p+d0+00 ho=0.00825 (m)

op:
00 : (m)
0o : (rad)
ho :
dp
Sp = Wu'h3+0.8Wp'hp3
3EI 8EI
Wu :
Wp :
El :
h :
hp :
o0
50 = Ho « Arr — Mo * Asr
Ass ¢« Arr — Asr + Ars
0o
_ —Ho = Ars + Mo - Ass
fo = Ass ¢ Arr — Asr ¢ Ars
Ho = Wu + 0.8(Wp + WF)

Mo = Wu ho + 0.8Wp(hpg + hf) + 0.8WF hfg

WE

hpg :

hf :

hfg :

Ho :

Mo :
Ass,Asr,Ars,Arr :

(m

= 0.00003 (m)

5.100 (m)

= 0.00424 (m)

Ass = 2.596580E+006 (kN/m)

Asr = -3.237668E+006 (kN/rad)
Ars = -3.237668E+006 (kN.m/m)
Arr = 9.596680E+007 (kN.m/rad)

(m

3425.100 (KN)
= 6.768000E+009 (KN.m?)

0. 00052 (rad)

(kN)

9316.959 (kN)
36192.968 (KN.m)

80%

= 7.658 (m)

= 2575.657 (KN)

= 5.658 (m)

5001.528 (kN)
2.550 (m)

2.000 (m)
1.000 (m)

(kN.m)

FORUMS8
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Khg = Cz Khgo = 1.00 0.70 = 0.70

Khg : 2 ( )
Khgo : 2 ( i
Cz :

2

FORUMS8
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Abut R

1
[€)) 1
@

T=201{5 =0.183 (s)

= 7.658 (m)

= 2575.657 (kN)

= 5.658 (m)

T : (s)
o : 80%
(m
0 =dp+d0+060 ho=0.00825 (m
op: (m)
00 : (m)
0o : (rad)
ho :
dp
op = i 08 he ) hih0n (m)
3EI 8EI
Wu :
Wp : = 3425.100 (kN)
El : = 6.768000E+009 (kN.m?)
h :
hp : = 5.100 (m)
00
: Ho « Arr — Mo « Asr
do = = 0.00424 (m)
Ass ¢« Arr — Asr ¢ Ars
0o
—Ho + Ars + Mo * Ass
0o = = 0. 00052 (rad)
Ass * Arr — Asr * Ars
Ho = Wu + 0.8(Wp + WF) = 9316.959 (kN)
Mo = Wu ho + 0.8Wp(hpg + hf) + 0.8WF hfg = 36192.968 (kN.m)
WF
hpg : = 2.550 (m)
hf
hfg : = 1.000 (m)
Ho (kN)
Mo (kN.m)

Ass,Asr,Ars,Arr :
Ass = 2.596580E+006 (kN/m)
Asr = -3.237668E+006 (kN/rad)
Ars = -3.237668E+006 (kN.m/m)
Arr = 9.596680E+007 (kN.m/rad)

5001.528 (kN)

2.000 (m)

FORUMS8



- 35 -

Khg = Cz Khgo = 1.00 0.70 = 0.70

Khg : 2 ( )
Khgo : 2 ( i
Cz :

2

FORUMS8
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2
(@D P o
)
€)
1
2)
4)
K
K = 1
1 1 ho?
Kp  Kfu  KFr
P
Kp = 5—p
P
KFu = 5o
KFr = !
0o
M = P« ho(kN. m)
0 =06p+t 6o+ Bo- ho
K (kN/m)
Kp (kN/m)
KFu (kN/m)
KFr (kN.m/rad)
P (kN)
dp (m)
o0 (m)
0o (rad)
0 (m)
0 : (m)
P=1000(kN)
2.1
a EO
KFu(kN/m) KFr(kN.m/rad) Kp(kN/m) K (KN/m)
Abut L | e | e 3.743235E4006 |  ---m--m-m-
L S RS [ —— 3.743235E4006 |  --—m--m-m-
0 op 50 6o 0
(m (m (mm) (mm) (mm) (mrad) (m
Abut_L 7.100 0.000 | ------ 0.267 | --—--—— | -—--——- 7.100
Abut_R 7.100 0.000 | ------ 0.267 | ----—- | ----—- 7.100
P=1000(kN)

FORUMS8
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KFu(kN/m) KFr(kN.m/rad) Kp(kN/m) K (kN/m)
Abut L | mmmmmmmeem | mmmmmeeee- 2.598414E+007 |  ----—--——-
Abut R | mmmmmmeeem | mmmmmeee- 2.598414E+007 |  ---——————-
o op o0 0o 0
(m) (m) (mm) (mm) (mm) (nrad) (m)
Abut_L 7.100 0.000 | ------ 0.038 | ------ | -————- 7.100
Abut_R 7.100 0.000 | ------ 0.038 | ------ | -—————- 7.100
P=1000(kN)
2.2
ED
KFu(kN/m) KFr(kN.m/rad) Kp(kN/m) K (kN/m)
Abut_L 2.044520E+006 | 8.513254E+007 | 3.743235E+006 | 7.416216E+005
Abut_R 2.044520E+006 | 8.513254E+007 | 3.743235E+006 | 7.416216E+005
o op do0 0o 0
(m) (m) (mm) (mm) (mm) (mrad) (m)
Abut_L 7.100 0.000 1.348 0.267 0.489 0.083 7.100
Abut_R 7.100 0.000 1.348 0.267 0.489 0.083 7.100
P=1000(kN)
KFu(kN/m) KFr(kN.m/rad) Kp(kN/m) K (kN/m)
Abut_L 2.006679E+006 | 7.819688E+007 | 2.598414E+007 | 8.463991E+005
Abut_R 2.006679E+006 | 7.819688E+007 | 2.598414E+007 | 8.463991E+005
o op o0 0o 0
(m) (m) (mm) (mm) (mm) (nrad) (m)
Abut_L 7.100 0.000 1.181 0.038 0.498 0.091 7.100
Abut_R 7.100 0.000 1.181 0.038 0.498 0.091 7.100
P=1000(kN)
2.3
ED
KFu(kN/m) KFr(kN.m/rad) Kp(kN/m) K (kN/m)
Abut_L 2.044520E+006 | 8.513254E+007 | 3.743235E+006 | 7.416216E+005
Abut_R 2.044520E+006 | 8.513254E+007 | 3.743235E+006 | 7.416216E+005

FORUMS8
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e} op 00 0o 0
(m (m (mm) (mm) (mm) (mrad) (m)
Abut_L 7.100 0.000 1.348 0.267 0.489 0.083 7.100
Abut_R 7.100 0.000 1.348 0.267 0.489 0.083 7.100
P=1000(kN)
KFu(kN/m) KFr(kN.m/rad) Kp(kN/m) K (kN/m)
Abut_L 2.006679E+006 | 7.819688E+007 | 2.598414E+007 | 8.463991E+005
Abut_R 2.006679E+006 | 7.819688E+007 | 2.598414E+007 | 8.463991E+005
o op do0 0o 0
(m) (m) (mm) (mm) (mm) (mrad) (m)
Abut_L 7.100 0.000 1.181 0.038 0.498 0.091 7.100
Abut_R 7.100 0.000 1.181 0.038 0.498 0.091 7.100
P=1000(kN)

FORUMS8
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